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439 e 1 [R5 i 642123 %kskskkokok ] 352 450
440 AR 2 WAL 642123 %kkskkk 1 321 780
441 R 1 R AR 6421 23kkkks0kk 1 329 390
442 HRAE 2 22 9E IR 642123%4kskkx4%1316 780
213 oy 1 E 64212 3%sksksksiskokok 1 322 450
444 R 2 RRAF 642123%kskkkkkk 1312 780
245 Py 1 BB 64032 [ sksksiesieksksksk 1 320 390
446 R 2 AETr 642123tk 1 31X 900
447 R 1 BN 642123 %kskskkook ] 337 390
448 o IRER 1 =2 64032 | kst ] 335 450
229 oy 1 T 64032 [ sksksisieskskskok 1 326 450
450 e 1 AR 64032 Ikt 1 45X 390
451 IR 1 bt 4] 64032 | fkssrotorok ] 328 390
452 IR 2 AR NP 64032 Diskkksrork 1 336 900
453 e 1 2K 64032 [ kssotorsksk 1 330 390
454 o IREAR 1 AWK 64032 | skttt ] 331 450
255 Py 1 o 64032 [ sksksksiesiekokok 1317 510
156 e 5 keSS 64032 1 stk | 322 1020
457 IR 1 ok 64032 skskskksriork ] 349 390




458 B 1 4 1FF 64032 Ikt 1 313 450
259 oy 1 25 41 B 64032 [ ksksksisieskoksk 1 333 390
260 Py 1 v 64032 | sksksictkkskk [ 329 450
461 IR 1 A9E Y 640502 %Kook 1313 390
162 Py 5 Bk 64032 stttk [ 31 1 780
263 Py 1 W 64032 [ ksksksiesiekokok 1 325 390
264 Py 1 R 2% 64032 stttk [ 323 450
265 oy 1 N 64032 [ kskskstsieskokok 1 318 390
466 e 2 FFHEZ 64032 1sksksiikskek 1 322 900
467 IR 1 SR 64032 1 sksksrorok ] 322 390
268 e 1 AR [ 64032 sk 1 31X 390
269 oy 1 2R RE 64032 [ ksksksisiekokok 1315 450
270 Py 1 ot 64032 stttk | 346 390
471 R 1 TA&H 64032 [ sksksisieksksksk 1 329 390
472 e 1 750 64032 1sskkkiererek 1 323 390
173 Py 1 Wt 64032 1 skt 1 318 390
474 e Lt 1 iz 1E 35 64032 seksctiorion] 323 390
275 oy 1 2% 64032 | skskskstsisisksk 1 342 390
176 Py 1 (TG 64032 [ ssksksstokskk 1 324 390
177 oy 1 = 642123k | 344 450
478 e 1 B4R 64212 3skkkskk0kk 1 329 390
279 oy 1 HAEAE 64212 3sksksseksksksk [ 329 390
280 Py 1 bl 6421 23skskskskskkkk [ 327 390
131 e 1 2547 KR 64032 1 kkskrorok ] 312 390
482 e 1 JE 64032 skskksrork ] 326 390
283 Py 1 Bl 7 Mg 64032 [ sksksieseksksksk 2429 390
184 Py 1 Pt 64212 3skskkskstesioksk 1 329 450
285 oy 1 259122 64032 [ kskskstsiesiokok 1317 390
486 R EE 1 AN B 642123kttt 1 327 390
487 IR 1 Bl 64032 1 skskroorok ] 312 390
488 e 1 == 64032 1skskskeiekrek 1 325 390
289 oy 1 A v 642123%sksksksiekokok 1 325 390
290 Py 1 Al 38 64032 | ksl 325 390
291 e 2 Zs B 64032 1 ksrorok ] 325 780
492 e 1 g EE 642123 %%k 1 321 450
293 Py 1 O [E 64032 [ ksksksiesiekokok 1 312 450
492 e 2 A 64032 1skskierskek 1 312 900
295 oy 1 AT 64032 [ kskskstesieskokok 1317 390
496 R 2 JE A 642123tttk 1 325 780
497 IR 1 e 64032 1 kkssroorok ] 327 390
208 e 2 2k 64032 [kt 1 318 780
299 oy 1 25 s 64212 3%sksksksiskokok 1 332 390
00 Py 5 2SR 64032 | skeksieeokokok 337 780
=01 Py 2 5K 64032 1 skttt 1 318 900
502 e A 3 F 5 5 642123kskctkok 1316 1350
=03 Py 1 Sl 64032 [ kksksisieiekok21 21 450




504 B 2 2% 642123k 1 323 780
05 oy 1 A 64032 [ ksksksiesieskokok 1313 390
06 Py 5 i 4 5 64212 3kkskkokokokk 1315 780
=07 Py 1 Hede T 64032 [ sksksiesieksksk 1 324 390
508 e 2 LSS 64032 I sstotoksk 1 319 900
09 Py 2 W 64222 2%skskskskckokok 3828 780
510 o RAE 2 B 7K #h 64032 1k ] 34X 780
e oy 2 HE L] 642123%kskskskokok 1315 900
512 AR 1 A rp gy 64032 Ikttt 1 333 450
013 oy 2 W 64032 [ ksksksisieskokok 1 323 780
514 i RAE 2 JE 7k & 642123%kkskkx4%1310 780
015 oy 2 KB 642123k 316 900
516 R 1 Spsp 64212 3skkskskskokokok 1312 390
517 e 1 o 48 642123 %%k 131 1 390
18 e 3 ETE 64212 3skkskksiokskk 1319 1350
=19 Py 2 Mgt 64032 [ sksksiesieksksksk 1 329 900
520 R 1 N 642123 %%k ] 331 390
) oy 1 N 64212 3skskssekskskok 1 326 390
=5 Py 1 B 5 64050 2skskksksteskoksk 1 314 390
=53 oy 1 25 R 75 64032 [ sksksiesisksksksk 1 329 450
524 HRAE 1 Ve A 640321 xkskskkk4%1319 390
05 oy 1 e 64032 [ kskskstsiesiekok 1 3211 390
526 o IRER 1 B! 64032 | kst ] 368 390
= Py 1 EELE 642123k [ 324 390
528 i RAE 2 LE®2 64032 1xkskskskkkk 1321 780
=59 Py 1 H 75 % 64032 [ sksksksiesiekokok 1 323 390
=30 Py 5 fa 1725 640502%skskskkokokok | 328 780
Y oy 2 At 64032 [ kskskstsieskokok 1 333 780
532 AR 2 R 64032 I soiotoksk 1 326 780
033 oy 1 4 5 64212 3%sksksksiskokok 1 322 390
534 HRAE 1 ] K& 64032 1xkskskkx45% 1320 390
35 oy 2 B S Mg 642123tk 1 348 780
36 e 2 T 642123tttk 1316 /780
=3, Py 1 P ] 642123 %kskskskeieokok 13211 390
538 HRAE 1 e 64032 1xskskskskkksk 1 324 450
=39 Py 1 R 640502:%skskskskekokok 1 323 390
540 R 1 BN 64212 3skskkotokk 1 366 390
v oy 1 g1k 642123k 1 31X 390
542 AR 2 1mEE 642123k 1 323 780
©13 oy 1 i 64212 3sskskstkssk | 340 450
544 R 1 Ay 64212 3skskkoikk 1 316 450
25 oy 1 B 642123k 319 450
16 Py 1 IE 2% 64212 3kkkskokokokok 1 325 390
YT Py 1 L5k L 642123%skskskckokok 1315 390
548 R 2 B4k % 642123tk 1317 900
19 e 1 BGE 64212 3%kskskiokok ] 32X 390




550 g} S
= ﬁg@a ; gk 2 2% 642123 %kxx5kkk%1 322 390
= ﬁt}éﬁ : K F5 18 64212 3kskkkek4k 1 329 780
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= e F J5 BH 6421 23%kxkkkkkk 1 31X 900
i R 2 Zs 4= B 64212
= ﬁ'{k%ﬁ - S = Skskekkskokskk 1312 1020
= f‘%a%/ﬁ\ : KHEB 64212 3skskskskskokokk 1 327 900
= ﬁﬂ}éﬁ - wHA 6421 23s%skskskk5kk% 1 330 390
JINTHR v
= e : ﬁ%{,it 6421 23%kkkkkekkk 1 356 390
JNTR =
—_ e - = i 64212 3%kskkokekekk 1 328 390
= R BRI EE 642123 %k kkk %1321 390
i PR 2 e 64
= . : & E 2123kskskskkkkk 1317 780
= f‘%}{béﬁ ; i{PﬁIE%b 6421 23kkkkkkkk 1321 900
— i AR I = 642123 skskskkkokx ] 38X 390
! 1 IKIGAT 642123
e o . sokokokokokskk ] 318 390
= ﬁt}éﬁ - 7K KA 642123sskskskskskokx 1 324 390
7N EE. ke 22
== L ; IKIE 2% 64212 3skskskskoksskok 1317 390
— ﬁq—@iﬁ 2 X2 642123 xkkkkxk%1 362 780
JINTHR y
= L - i{f%%ﬁ 642123xkskkkkk%1 315 390
— ﬁ;{uéﬁ - 7&% i 64212 3kskkkekkok 1321 390
= - l%,é . .%/i\j—»_ 64212 3skskkokokekk 1318 390
TR
= o - £5 i% 642123kskkkekkk 131 1 390
= - lj%,a\ - | JR 6421 23kskkokokekx [ 323 390
TR .
= o - oK 17 642123k 1 329 450
= ﬁtﬁéﬁ k A 642123kskskskskekeksk ] 348 450
— ﬁ,ﬂjiég : g&ﬁi‘hﬁ@ 640502%%kskkx%%1319 780
= ﬁt}éﬁ - 5}(% 64032 1xkskskskkkk 1333 390
= i SEH | =t 64032 1kskkokekkk 335 390
! 1 o4y 6403
= %@%% - ;W, 2 1kskskkskskokk 1 312 450
= ﬁ%,é - gk ZE g 64032 1sskstkokekksk 1 312 450
N 3T
== A 7K 3T %R 64032 [k 1 310 390
i PR 1 oA 64
== i W. 032 1xkkkkkkx 1332 390
! 1 W sE 64032
ol ﬁ{k% - : 1 skskskokokskoskok 1 3211 390
= Mtféa\ FH 0 64032 1 sskskskskskokk 1 346 390
! 1 FRAE 640321
a3 %@Erﬁ%a n it sokskskokokk [ 32X 390
= i 4 = 64032 1ok 1 324 390
! 1 el 64032
T %EP% . 1 skskskokskskoskk 1 335 390
i o FH 1 K 640321 sk
— o sk 1 329 390
R 1 L 6403
= e - =i 2 Ikskskkrkrk | 346 390
— %ﬂﬁé : Eyyia 640321 skskoskskstokk 1 347 450
JINTR o M
s o : T RIE 64032 1 ksksksksskskk 1324 780
JNTR y o
e o - Y = 64032 1kstkokekkk 1 323 450
7N EE Z EE
= e - ;i%a"%%; 64032 sk | 34X 390
TR =
— o : R 640321 skskskokkkx 1 322 450
JINTHR 24
= L - ﬂj%ji = 64032 [ seskskskokssok 1 323 390
= ﬁt}éﬁ > T 64032 sk | 328 390
JINTHR >
= L : %JE% 640321 xkskskskkkk 1326 780
SEH Lk At 64032 1kstkokokkk 1 327 390
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= g gi 1 $T% 64032 I kstrook ] 328 390
= o - jli;[ﬁﬁ 64032 Lsskssskokrk 1317 390
28 e - g—%ﬁ 64032 I sksksotorok 1 325 390
= o : - @ = 64032 1x%kkkx4%1 320 780
o e : 2ol 64212 3%kkskskokokk 1317 780
- o - EEI?&?)E 64032 Lssksskskokrek 328 390
- e : H %7?*55 640502k 1 313 450
- P - EBZVE; 64032 1skskskskskskskok ] 328 390
- e : éjﬁi ]; 6421234k 1 361 780
== o : E'EEE. 642123%kkkk4k1 314 780
o e - /\,? 64212355k kx 1331 780
=2 o ; fﬁkiﬂ 64212 3kskkkkkk1 332 900
o e . Za] .5$ 64032 1skskskskokokk 1 332 450
g o - ZZP%{E 640502kt 1310 450
oo e : B.Ej% 64212 3skkkdoiokok 1 341 450
= e - ££5 H[L 64032 kkokkkx(0346 450
oy e - ‘ %T 64032 1ok 1 316 390
oy e - e 5& 64212 3%kskskkokkok 1 342 390
g e - g{z{;ﬁ?n 640502ksksktoekk 1 321 390
oy o - i i:iﬁ 64032 Lsskssekokrk 328 390
o e - jﬂii 64212 3skkekeksiokokok 1 31 1 390
= . > iﬁi 642123%*kkkkk4k 1328 390
o e : i{/ﬂ: 6421 23%kkkkk% 1 323 780
oo o - .;. @\é]: 64032 1skkkrorok 1 343 450
o e : m@f[ﬁ 64212 3%kkkekkkk 1315 390
- o - %ﬁ/ﬂi 642123tttk 1 340 390
o e - ;EE; 64032 1kskskskokokk 1 367 390
- P - i('/\ 64212 3%kkskskskskekek 1 312 780
o e : %IJIiE 642123 %kkskkok 1 341 900
oy o - ;;ﬁf‘ 640321 sskskskkkkx 1314 780
o e - f ?L 64032 Lotk 1310 780
ot o ; };JBE.; 64032 Lkstotokork ] 338 900
o e : EE,{,JZ(E; 642123%kkkkkkk 1 324 390
- o ; g(/iﬁa 64212 3skkkkokokk 1318 900
- P - gjﬁg ‘ 64212 3*kkkckekkk 1310 780
= e ; 7'(%1[; 642123s%skskskskkxx 1318 900
e R 1 %EE &5 64032 Lkstkotorson] 329 390
o e - [i,i/j}%}] 64212 3%kskkkokkk 1323 390
= e : ;ﬁj 64212 3%k 1 335 390
o o - ! fD;E 64212 3s%kkkkkokok 1317 780
o e - i(lj{ilf)@ 64032 1kskskskokorok ] 322 390
= o : ;/Eﬁ% 642123%kkkkkkk] 326 780
= o > . }i&j% 64032 Dkskskokokkok 1 329 390
- o - Eé(f,ﬁz/l 64032 1skkkkkorok 1 323 1350
o e - {ﬂﬁ:uﬁz 64032 1xkststokskeksk ] 322 450
W5 64212 3sksksskskokk 131X 780




642 R 1 fi] £ 3% 642123%kskkkk%1 325 390
643 i R A 1 OoEt 64222 Itttk 296X 450
644 i AR 1 L 64032 Lskskorson ] 331 390
645 R 2 g 6421 23skskskotetokok 1 317 900
646 i R 1 RASE 640502tk 1318 390
647 R 1 FAEAE 642123skksokoksiokk 1338 390
648 o RAE 1 R g 64032 [kskskskokokdok 1 347 390
649 VR EE 2 gk 7 6421235k 1314 900
650 A 1 K75 85 64212 3kkkkkkkk 1323 390
651 i R AR 2 Tk E 6421 23ktorkior] 329 900
652 g | 1 BRAE 642123k 1 329 390
653 R EE 1 WIE %R 642123xkkkkkx%] 31X 450
654 g 1 % 642123%kkkkkxx]1318 390
655 PR E 1 AR 64032 1xkskskkxk%] 358 390
656 i AR 1 Gl 642123kt 1 330 390
657 PR EE 1 ¥JEBH 642123 xkkkkx%%133 1 390
658 g 2 Ji 33k 75 6421 23kkkkkkx 1 340 900
659 Y UREE 2 XI| = 2 64212 3%kkskkkkx 131 1 900
660 A 1 4 HAe 64212 3kkkkkkkk 1328 390
661 VR EE 2 OER 642123%kkkkkkx 1310 780
662 i IREE 1 M= 64212 3skkctoroton ] 32X 390
663 g | 2 BRI 64032 Ltk 272 1 900
664 g 1 FB R 642123%kkkkkxx]1327 390
665 PR EE 2 Eba 642123 %%kkkx%%1319 780
666 g 1 IKHUA 64032 [ sskskotolkokr ] 34X 390
667 B R 2 KR 64212 3skksksrokk ] 314 780
668 g 1 IKEER 640502skkkskotsikok ] 323 390
669 g | 1 w2 64032 1kkskskkkkk 1325 390
670 A 1 5 5 i 64032 1kskskkkokokk 1 32X 390
671 R 1 S 642123%skkk5%001 1 390
672 R 2 R HN 64032 Iskskosorskok ] 318 780
673 i R A 1 UEE 642222k kkotkk4429 390
674 g | 2 25y 64222 2skkkkkokok 4436 780
675 PR EE 1 Zs3e 64222255k 442 1 390
676 g 2 K 642222 kkkkkx k4425 780
677 g | 1 BRISHE 640321 skskkkkxx]1315 390
678 IR 1 R 642222 kkokkotkok 4421 390
679 B IRAR 3 BN 64222 Isktsketskotskk 3986 1350
680 A 1 = /N 64222 1kkkkkokkk 3944 390
681 R 1 THE 64222 Lkt 3939 390
682 g | 1 227K A 642221 #kkkkkkx3936 450
683 o IRGE 1 FIE= 64222 1steksiolokk 394X 390
684 HRAE 1 by = 642123xkkkskkkk1 328 390
685 g | 1 BN 64052 23kkkkkkkk5010 450
686 i AR 2 PR = 640502 ksctotkon] 327 780
687 VR EE 3 %75 U5 64032 1xkkskkxk%] 528 1170




688 HRAE 1 ASEERE 640321 xkskskkkkk 1314 450
689 R EE 1 WA Z 64212 3%kkkkkkx] 162 450
690 g} 2 ERES 64032 1 seksotorsiolk 1 323 780
691 PR E 1 %758 64032 1xkkskkxk%1327 390
692 g 1 PR 64032 [skskokolokokk 1 319 390
693 VR EE 1 B 4 64032 Ltk 131 1 390
694 g 1 Al W5 64032 [skskokokokkk | 328 390
695 AR 1 T 64032 [kttt 1 31 1 390
696 g 1 X FE, 640502 kkskkkk%1312 390
697 iR 1 k= 64032 Lkt 1310 390
698 g | 1 Z= U IH 640502%*kkkkkkk1315 390
699 g | 1 B 64212 3%kkskskskckk 1 369 390
700 g | 1 s 2 i) 64032 1kskskskskokokk 1 323 390
701 PR E 1 A= 64032 Lok 1316 390
702 i AR 1 W75 64032 Lkt 348 390
703 PR EE 1 JE R 64032 sskkokkokk 1310 450
704 B R 1 HEE 6421 23skeksokomlok 1316 390
705 R 1 R 64032 1 skskorion] 324 390
706 g 1 i IR 75 64032 ksl 1 324 390
707 VR EE 1 ZEN 640502%kskskskkkk 1 325 390
708 R 1 5 64032 Ikt 321 450
709 U EE 2 i B %& 64032 skkookokk 1 324 780
710 g | 1 JH = 4 64032 1skskskskokkk 1317 390
711 g | 1 RFK 642123x%kkkx4%1316 450
712 i AR 1 AT 3% 642123 ksctotion] 322 390
713 VR EE 1 KK R 64212 3%kskkskokkek 1 328 390
714 W IR 2 FH= 642123 kkkotkorton] 326 780
715 R AE 2 oK W3 642123kt ] 342 900
716 A 1 A T 64212 3kkkkkkkk 1368 390
717 g | 1 J&E ) 642123kskkkkkk1 315 390
718 R 2 RAF R 642123tttk 1319 900
719 i R A 1 pib &N 64032 Lok 1315 390
720 g | 2 e 64032 1skskskskokkk 1313 780
721 g | 1 Wk = 4 64032 1 sk [ 31X 390
722 g | 2 Axrp A 64212 3kkkkkokkk 1312 900
723 VR EE 1 =S 64032 Ltk 1 349 390
724 i R 1 TR 64032 Lokttt 1 317 390
725 R 1 A EIE 64032 Lktotokn ] 323 390
726 g 1 OH e 64032 kst 1 324 390
727 A 2 XIS 642123 sksckkotskok ] 325 780
728 g | 1 KR 5t 64032 kkkkokokkk 1316 390
729 Y UREE 1 AR 6421 23kkkkk4% 1310 390
730 g | 1 g5zt 64032 1ok 1 32X 390
731 PR E 1 R 640321 x%skkkx%%1 326 390
732 i AR 1 B E 642123kkktkotkon] 320 390
733 VR EE 1 gl 5L 64032 1xkkkkkk%1 325 450




734 HRAE 2 JE ETH 640321 xkskskskkkk 1334 1020
735 R 1 g 15222 Lskssksokk 4013 390
736 B IR AH 2 E7eP | 64032 skttt ] 328 780
737 PR E 2 Z5iEs 64032 I skkotokokkk ] 322 780
738 g 1 KRR 64032 1xkkskkx4%1316 450
739 VR EE 2 TILH 64032 1 soktotokark | 33X 780
740 g 1 i 64032 1xkskkokkkk 1 327 390
741 R 1 H 64032 Isksetortorox] 335 390
742 A 1 2] 64032 1kkkkkokokok 1 324 390
743 iR 1 AL 6421 23kskskonkn 1317 390
744 R 1 ik & 64032 Itttk 1 310 390
745 R EE 2 IKipaE 64032 1xkskskkx%%1 329 900
746 LA 1 FHiE = 642123 skctokokok 1923 390
747 g | 1 KT 64032 1xkskskkx4% 1 340 390
748 W R 1 TRE 6421 23sketstotokok ] 322 390
749 PR EE 1 AEEE 64032 Lsskssskskerk 323 390
750 i RAE 1 IEERE 642123%kskskkkkk 1314 390
751 Y UREE 2 D 64212 3%kkkkkkx] 348 780
752 A 2 7K i 64212 3kkkkkkkx1353 900
753 VR EE 2 Ik EAR 642123%kkkkxk%1 314 780
754 i R 1 KA 640502kkkkk% 1 33X 390
755 B R4 1 XU AE T 6421 23skkskotekok ] 318 390
756 AR 1 SRR 64032 [sksckstorn1 315 390
757 PR EE 2 VRS 642123 xkkkkkk%1327 780
758 g 1 i % [E 64032 [kl [ 314 390
759 R 1 HLn 642123 kskskix 1312 450
760 o RAE 1 K- 64032 sskstolokekekk 1313 390
761 Y UREE 1 SRR X 64032 1xkskskkkk%1313 390
762 g 1 ISP 64032 ksl 1 321 390
763 R EE 2 RIS 64032 1 skkskkkk 1321 780
764 HRAE 1 XA B 6421 23%kkskkk4% 1326 390
765 R 1 LY e 64032 Ikttt ] 327 390
766 HRAE 3 =5 A I 642123%kkskskkkk 1314 1530
767 PR EE 1 2 R 6421 23kkkkk4k 1 324 390
768 HRAE 1 S 64212 3xkkkekektok 1321 390
769 VR EE 1 S E 640502k kskkokkkx 1317 390
770 g | 2 g5 5% 64032 Dok 131 1 900
771 g | 1 MAH 64032 kstotorark 1 317 390
772 R 1 BRI 64032 Lkkotiokk 1 365 390
773 VR EE 1 K 64032 1xkskskkxkk 1321 390
774 R 1 FEIEYT 64032 Ikttt 317 450
775 Y UREE 1 BEREDE 64032 [kskskokokkxx 1328 450
776 AR 1 W75 64032 [stotkiok] 329 450
777 WO AR 1 IR 64032 Lskskskotskotokk 1 319 390
778 g 1 K BT 64032 [skskokokokkk 327 390
779 VR EE 1 IR 642123 xkkkkx%%2116 390




780 R 1 12 i yE 64032 I skstotoik 1 325 450
781 IR 2 JE Ik 1L 64032 skskskkriork 1319 780
% Py 1 X7 64032 sk 1 310 390
733 e 1 KA 64032 | kssotorsksk ] 324 390
234 e 1 s 64032 1skekkierrek 1317 450
735 e 2 RVGIK 64032 kskkkoiork 1317 780
786 R 1 yesg s 64032 sk 1 325 390
737 e 1 I 64032 1 $ksksrrotorok ] 327 390
788 AR 1 A I 642123 %Kk 1 31 1 390
~89 oy 2 A 64032 [ kskskstsiesiokok 1313 780
790 R 1 e 62042 stttk 1 429 450
791 IR 1 KIEEE 64032 1 kst ] 323 390
297 Py 1 o2t 64212 3kkskskkokokok 1 345 390
793 e 1 R 64032 1 sksroorok ] 323 450
794 R 1 ) 64032 I sksksotork ] 345 390
~o5 Py 1 BT 64212 3sksksksekskskok [ 349 390
796 i RAE 1 oK 75 35 64032 1xkskskskokkk 1 325 390
797 e 1 A v 64032 1 fksksroorok ] 328 390
298 Py 1 i 64032 stttk 1 320 390
299 oy 2 143 64032 [ kskskstsieskokok 1 333 780
800 R 1 LA 64032 Itk 1 310 390
201 oy 1 gh L 64032 [ kskskstsiesiekok 131 1 390
302 g 1 i R TH 64212 3%kskskckoksk 221 8 390
303 e 1 WYL = 64212 3%sskkokk k2214 390
804 i RAE 1 K S 64032 1xkskskskokksk 1 322 390
205 Py 2 Rk 64212 3sksksksokoksksk22 14 780
806 R 1 i HE ML 640502k ] 34X 390
307 oy 1 Wk 3k % 64032 [ kskskstsiesiokok 1317 390
808 AR 1 FAEZ 64212 3%k 2228 390
309 e 1 L 642123 %%k 2218 450
310 e 1 FIfRE 64212 3skskokskk2210 390
311 e 1 FE Ik IR 642123kskkkrkk k2218 450
812 o IREA 1 I 64212 3skskskskskokokek 2217 390
313 e 1 ==V 64212 3%ksksktokk 221X 390
214 Py 1 12T 642123kt k 221 X 450
315 Py 1 1 A [ 642123%skskskkokokok221 8 390
816 IR EE 1 B A48 6421 23kkkokokekx221 2 390
317 oy 1 Tbe 64212 3%skskskskeskokok 2212 390
818 AR 1 [ 642123k k2219 390
319 oy 1 Py 642123%kskskskeokokok221 3 390
820 R 1 Xl 2 64212 3skskiokskk2219 450
51 oy 2 T 642123k 22 10 780
o) Py 1 EEVE 6421 23skskskskskskokok 2219 390
33 e 1 FEJktE 64212 3kkkkkkkk2216 390
824 HRAE 2 i ==, 642123 xkkkkk4%221 | 780
5ot Py 2 B 64212 3sskkskkksk%2218 900




826 B R 2 [ e it 642123kskkxk%2215 900
827 R EE 2 JE A& 642123kkkkkx%2218 780
828 g 2 A fE 642123%kkkkkkx2219 780
829 PR E 2 JEIER 64212 3skkkkkkx2222 780
830 i R 1 R4 642123kt 2210 390
831 VR EE 1 1 4 [ 6421 23x%kkkx%%2215 450
832 o RAE 1 JH 64212 3xHsdkokkekk2213 450
833 R 2 Sk 6421 23kksckkk 2214 900
834 g 1 P 5w 64032 1xkskskokxkk221 1 450
835 VR EE 1 [T 22 64032 1 kkkskskx4k 1345 510
836 AR 1 WEAE e 64032 Ikt 1 31 1 450
837 R EE 2 FEE 6421 23%%kkkx4%2240 780
838 B IR AT 1 WA U5 640321 seksctkokok ] 318 450
839 g | 1 WEE 6421 23kkskkkkkk 222 1 390
840 g 2 JEJRTT 642123 xkkkkx4%2216 780
841 R 1 i EE 642222k k% 1 622 390
842 i RAE 1 B 6421 23%kkkkx%%2220) 390
843 g | 1 FALE 64212 3kkkkkokkk 2225 390
844 A 1 TR 6421 23%kkkkkkx2219 450
845 g | 2 Fa= 64212 3skkkkkxx2122 780
846 g | 1 BRI 640502%kkkkkkx 131 1 390
847 U EE 2 S 642123 %4kkkx4%221 1 780
848 W IR 1 Fe&E 64032 setotortor ] 32X 390
849 PR EE 2 ke 642123 xkkkkxk%2217 780
850 R 2 1BiELE 642123tk 2217 780
851 WA 1 X PR 642123kt 221 3 390
852 R 1 1REAE 642123 ksctotkok 221 1 390
853 g | 1 X752 640321 sskskskkkxx0942 450
854 R 1 SR ERET 64032 [ksokknkin 1318 450
855 R EE 1 FAE R 642123%kskkkkkx2213 390
856 HRAE 2 pE e 6421 23xkkkkk k222X 780
857 R 1 JE 2 B 642123k 222 1 390
858 LA 1 + 5 642123 kckekstokokk 2216 390
859 R 1 = 640502k k8% 1 326 390
860 IR 2 H [n] B 642123k k2210 1020
861 VR EE 1 XIJK 642123 xkkkkx%%2215 390
862 g 2 & H % 6421 23kkkkkkx 222X 1020
863 g | 1 X &1 64212 3%kskkkkkx2225 390
864 R 1 ERE 642123 x4kkkx%%2226 390
865 R 1 ERYI 6421 23skksckokskok k2228 390
866 B R 1 52 6421 23kkctiokk 222 1 390
867 AR 1 F R 642123k 1 348 390
868 g 1 YA 64032 1xkkkkkok 1 324 390
869 g | 1 HE 642123%kskkskokkx2223 390
870 HRAE 1 HE2 6421 23%kkkkkk%k% 2224 450
871 VR EE 1 FIMNE R 642123xkkkkk4%2210 390




372 B 2 FiEAL 64212 3%kskskkkk 2217 780
573 oy 1  E S 64212 3skskksksksksk:221 7 390
572 oy 2 POl 64212 3skskskskokokk 221 | 900
375 e 2 F ki 640502%skskkksk3k 1 320 900
376 e 1 A E 64032 1sksioksiokekok 1 327 450
o Py 1 Bis 64032 [ kskstsiesksksk22 1 X 450
278 Py 1 W A 64032 1 sktkstsiskskk 1 31X 390
579 oy 2 E1SCH 64032 1 skt | 33X 780
280 Py 1 PUEA, 64050 2skskkskskskoksk 1 326 450
281 oy 1 P 64032 [ ksksksisiskokok 1 328 390
882 R 1 LT 64032 stk 1 320 390
283 oy 1 etk 64032 [ kskskstsiesiskok 1 321 390
334 g 1 ML 642123k k2220 390
335 e 1 biyntan 6405023kt 1329 390
28E Py 1 Al 64212 3skskksksioksk k2218 390
e Py 2 B 64032 [ kksksisiesiekok 1 321 780
338 e 2 F 4 640502k 1 323 780
289 oy 1 WEE 642123k 2229 390
890 AR 1 ] 75 i 642123k 2222 390
391 e 1 ) 642123k kkkkk k222X 390
392 e 1 KA 642123 kksknkx2215 390
293 oy 2 P 64032 [ sksksisieksisksk | 354 780
294 e 1 LA 64032 1 skskskskskskskok | 344 450
395 e 2 FAEIT 642123kskkkkkk k221X 900
396 e 1 22 E 642123tk k2236 510
297 Py 1 H5 %5 64222 2%skskskskskokok 1 812 390
898 AR 1 FH 2 5% 64222258k 1825 390
299 oy 2 H A 2 64222 2sksksskskskskok 824 780
900 R EE 1 L NE 642222%kskskkkokok 1 828 450
901 oy 1 H 1 64222 2%skskskskskokok 1 827 390
902 o IREAR 2 fhEF 64222 2skkskskskk 1 825 780
903 oy 1 AL 64222 2%skskskskskokok 1815 390
904 R 1 RNy C s 64222 2skskskskskskokok 1 82X 390
905 Py 1 M 2L 64222 2%kskskskckoksk0707 390
906 Py 1 LB 640522tttk [ 811 390
907 Py 2 L Y 64222 2%skskskskkokok 1 865 780
908 o IRER 1 FH X 642222%kskskkkokok 1815 390
909 oy 1 P 64222 2sksksksksksksksk 820 390
910 e 1 2 /> 640502k 3017 390
911 oy 1 e 642226k kskskskskokok 1 225 390
9o Py 1 ¥ kY 640502kt 1 36X 450
913 oy 1 e 642222 ksksksksksksksk ] 82X 390
914 R 1 FH 534 B 64050 2skskskskskskskok 301 4 390
915 Py 1 LT 642222k 814 390
ole Py 1 Bl 2 A 64222 2sskskskskskk 81X 390
917 Py 1 25 EFE 640522 %skskskskokokok 0842 390




918 B 1 FIRiE 64222 2%k 1 847 390
919 oy 1 FH ik 640502k 3019 390
970 Py 1 25y 64222 2skkskokokokk 1815 390
971 e 2 & 221 642222k Kk kkkk % 1 812 900
922 e 1 M AE 64222 2%kskkotokok 1 824 450
923 Py 1 W/NE 64222 2%skskskskskokok ] 842 390
974 Py 5 L 64050 2skskkskstsksksk 1 330 780
975 oy 2 I 64222 2%kskskskskokok 1 825 780
976 e 2 M e 4R 640502 ksskkkkk 1 316 780
927 oy 2 VO, 2 64222 2%skskskskskokok 1 827 780
9,8 e 2 M 2 64222 2%kskskkskk 1 839 780
929 oy 2 E 640522k 0224 780
930 Py 1 = /N g 642222k k33 1 880 390
931 e 1 FE S %, 642222 %%k 181 1 390
935 Py 5 LG 642222kt 827 780
933 Py 1 T 642222k 829 390
932 e 1 P Fi 5% 640502 %kkskskkkok 1 321 450
935 oy 1 F L 640502skskskssksksksk 1 340 390
936 e 1 e = 64222 2%k 1815 390
937 e 1 A 45 642222 %Kk 1 815 390
938 e 1 NS 64222 2%k ] 82X 390
939 oy 1 H IR 42 64222 2%skskskskskokok 1812 390
920 Py 1 | 4 64222 2skskskskskskskok | 849 390
941 e 1 T A5 5% 64222 2%kskkokskok 1 824 390
915 e 3 [ 64222 2skkkskskokokk [ 818 1350
913 Py 1 H ¥4 B 640502k 30 16 450
oaa Py 1 5 64222 2sskskstskoksk [ 814 390
945 oy 1 5 64222 2sksksskskskskok 826 450
946 R EE 2 Y B 64222 2skkkskkk 1 816 900
917 oy 2 2P 64222 2%skskskskskokok 1818 780
948 e T A 3 M= 64222 2skkkskolsiokok ] 827 1170
949 oy 2 H 7 64222 2%skskskskskokok 1812 900
950 ey 3 T 64222 2skkksksokskok | 857 1350
951 Py 1 NPT 64222 2%skskskskskokok 1 823 450
955 Py 1 B S 64222 skt | 823 390
953 Py 1 X 64222255k 1 810 390
952 e 2 %7 64222 2skskskskckokok 1 827 780
955 oy 1 e 64222 2%kskskskskokok 1 833 390
956 R 2 L5555 640522:kskskokkok 0824 780
957 oy 1 X4 64222 2sksksksksksksksk0229 450
958 e 1 FH 4 64222 2%k 1818 390
959 e 1 &% 240t 64222 2%kkokskk 1 834 390
960 Py 5 TR 64222 2kskskckskokok | 83X 780
961 e 1 S 64222 2%skkokskk 1814 390
962 Py 1 Bl £ 4 64222 stttk 821 390
963 Py 1 /K 64222 2%kskskskskokok 181 1 390




964 i AR 1 T2 64222 2%kskokkk 1 852 390
965 R EE 1 HH = 642222%kskskskkkx 1815 390
966 i IREE 1 M= 64222 2sksckoksckk 1820 390
967 g 1 HH Z 6422225k 1 818 390
968 i R 1 Sz 6422225k kkk5% 1815 390
969 VR EE 1 Fag==dl} 642222555k 1816 390
970 R 1 Tt 642222kkctkok ] 824 390
971 R 3 H T 6422225tk ] 834 1530
972 H 1 H o 64222 2sksckokkckok 1815 390
973 AR 1 FH L% 642222k 181 1 390
974 R 2 HH D2 6422223 kkokok 1 858 780
975 R EE 1 X1 6422225k k4% 1 825 390
976 HRAE 1 YEV i 64222 2x4kkkx4%1829 390
977 PR E 1 A 64222 2%kskskskokokk 1 822 390
978 B R 2 HEZ# 642222 kkkkk 1819 780
979 PR EE 1 2N B 64222 2%kkskskskokk 182X 390
980 i RAE 1 &Y 7 6422224 4kkk4k 181 1 450
981 g | 1 FH = 1 64222 23kkkkkkok 1 83X 390
982 A 1 V2 642222 kskckoksolkok 1 843 390
983 g | 1 L gaysd 642222%kkkkkkx 1815 390
984 g 1 LN 642222%%kkkx4%1810 390
985 R 1 Ly 642222k sskskokkok | 827 390
986 I AT 1 HH A £r 642222k 1818 390
987 WA 2 HEAL 64222 2sksckotskokok 1817 780
988 i RAE 1 FH 41 64222 2+4kkk4% 1 859 390
989 VR EE 1 V=] 64222 2%kskskskkkk 1865 390
990 o RAE 2 J& £ 5# 642222 +4kkkk% 1818 780
991 Y UREE 1 B 751 642222 4kkkk4k 1 824 390
992 g 2 RS 6422224k kkkkkx 1826 780
993 R EE 1 HE 642222%kkkkkkx 1816 390
994 R 1 =3 64222 2%kkokkk 1 825 390
995 PR EE 1 FH $84 =~ 642222%kkkkkkx 1836 450
996 B R 1 M XE 642222 kkkk% 1810 390
997 R 1 G IE Rt 642222kttt 1815 390
998 g 1 FH 1 2 6422224 kkkkkx 181 1 390
999 VR EE 1 44 4L 64222 2% %%k *kx%%1819 390
1000 WA 1 S EE 642222skscksctokok ] 820 390
1001 Y UREE 2 R41e 64222 2%kkkkkk %1 823 780
1002 R 1 FH 384 64222 2%4kskkx4% 1 834 390
1003 VR EE 2 KA 64222 2% kkkk k%% 828 780
1004 HRAE 2 7 My 64222 2xkkkkkk% 1 828 780
1005 Y UREE 1 25918 64222 2%k4kkk4k 1821 450
1006 HRAE 1 ORE 64222 2x4kkkx4% 1846 390
1007 PR E 1 MEAr 64222 2% kkkkxk% 1 842 390
1008 HRAE 1 FH XAR 642222%kkkkx4%1 835 390
1009 VR EE 1 Ji N A, 64222 2kx4kk k%% 1 82X 450




1010 g 1 LRV 6422223 kkkkkkx 1 84X 450
1011 R EE 1 7K A 64222 2kxkkkx3kk 1821 390
1012 B R 2 FH M 642222 kkkokk 1814 780
1013 R 1 HH % 642222k k8% 1 839 390
1014 R 1 HEAHH 642222k skkkdok 1 844 450
1015 R 1 s 642222k stk 1 825 390
1016 o RAE 1 Fad=i 64222 2%4kkkx4% 1830 390
1017 AR 1 i Ae 64222 2%kskskkskok 1 823 390
1018 B R 1 HH E M 642222 kkkkokok ] 82X 450
1019 VR EE 1 THEE 64222 2%kkkkx4k 1812 390
1020 R 1 &5 642222tttk 1816 390
1021 WO AR 1 H 54 642222sksckotokok 1 81 1 450
1022 g 1 EEH 64222 2%kkkkxxx]1817 390
1023 B R4 2 HE A7 64222 2sskstkotokok 1 817 780
1024 R 1 EREEAN 642222k kK% 1 829 390
1025 HORAE 1 2R 64222 2skkkkokokok 1813 390
1026 i RAE 2 Tk 6422225 kkkkkk% 1 822 780
1027 Y UREE 1 HH M5 642222%%4kkx%%1812 390
1028 B R 1 e 642222k kskkskk 1834 390
1029 VR EE 1 N ) 64222255k 1821 390
1030 R 2 HH 0 6422225k kkokkk 1812 780
1031 B R 1 Y 642222 kkkkkk 1 827 390
1032 I AT 1 B 4R 642222k 1817 390
1033 PR EE 1 FH 2 il 64222255k 1839 390
1034 i RAE 2 FH 445 6422225 kkkkkk%1812 780
1035 g | 2 2 Zasy 7N 64222 2%k kkkkkx 1819 780
1036 g 1 0H % 642222 kkkkkx k1813 450
1037 B IRAR 4 TEF 64222 2sksktskotskok 1 824 1560
1038 WA 2 P 1E 64222 2sksctotokok ] 847 780
1039 R EE 1 e 64222 2% k%kkkx%] 82X 390
1040 g | 2 o 64222 2%kkkkkk% 1825 780
1041 PR EE 2 KT 64222 2% kkkk k%% 827 780
1042 g} 2 H 2ot 64222 2sksckoksckk 1810 780
1043 B R4 1 H X 64222 2sskstskotokok ] 812 390
1044 R 1 2 642222 ksckokok 1818 390
1045 R 2 HESY 6422225k 1810 780
1046 o RAE 1 FH Z A% 642222 kkkkxk%1815 390
1047 AR 2 i B 64222 2%kskskskskok 1818 900
1048 g 2 X B 6422224 kkkkkx 181 1 900
1049 VR EE 4 BE%R 64222 2%k%kkkx%]1 81X 1560
1050 HRAE 1 FH 384 v 64222 2xkkkkxk%1813 390
1051 AR 2 H 75 642222k 1 82X 900
1052 R 2 KM 640502%*k*kkkkx%1315 900
1053 WA 3 X B R 64222 2sksckoksiokok 181 1 1530
1054 g 1 M AE 6422223 kkkkkk k1822 390
1055 VR EE 1 R F5 64222 2%kkskskskokk 1821 390




1056 =
2 g ;Ei i E;E?E% 642222kt 1 833 900
— o - 7% i 3; 64222 2%kskskskokok 1817 390
> o - ;4 ‘15 64222245k kx 1810 390
= . - % I;ﬂjg 64222 2%kskskskokokk 1 822 390
oer AT : %\_\LB: 64222 2%kt 1 820 390
= e : Tgé 1 64222 2%kksskskokk 181X 780
= o - L \_\L"‘ﬁ" 64222 2skkkskkk 1 816 780
e e : gvcl\f 64222 2%kkkkkkx 1 82X 450
= o ; j;,ﬁf 6422224 kkskkkk 181 1 780
o . : ;}Z 642222%kkkkkx%1 825 450
o o . ; ii 64222 2%k k00 [ 81X 780
Tocs o - E‘L,?A\ 64222 2kkskkkk3k%k 1820 900
= o - % \_\% 642222 %xxk3kkkk ] 84X 780
— o : %;Ej 6422225k k%1813 780
0T AT - ﬁ—]v,éi 64222 2%kkkzkekkk [ 812 1170
o o . ﬂ{/z\% 64222 2%k4kkk4k 1811 900
s AT : ﬁ;zﬁau 642222% Kkt [ 815 390
= o > 35}% 1 64222 2%kskskskskok 1813 390
2 o ; %1(1)2 64222 k8K k0 1 825 780
e e 2 EHL% 64222 23%kkkkkokok 1 828 900
2 o - . ,\z\ﬁ/ 6422228k kkskk0kk 1 814 390
1078 . - EH@?— 64222255k 1810 390
— s : - ,\? 64222 2%k4kkeko40k1 819 390
2 o ; T Q E 6422225k 1812 780
a1 AT - %z;z 64222 2%kkkckkkk [ 829 780
o5 o 2 };Jf;i 64222244k x4k 1 812 900
oo AT : %fﬁﬁ 64222 2%kkkckekkk [ 827 390
= L - ; /A\Z)E 64222 2skkkokotolkok 1 821 390
— e - %&ﬁz 6422228k k00 1 825 390
— o - }% i Ed 642222355k 1 830 780
2 o . 1% i i 642222k K kkk0kk 1 816 1350
— . : : }; 5 642222 kkkkkkx 1 822 780
o o ’ ;5 ﬂ%% 6422225 kkkkkx %1817 780
= . - ;% };—b{‘ % 64222 2skkkkotolok ] 824 390
o1 AT : o My% 64222 2%kt 826 390
== e > ;\;)2 64222255k 1820 390
— o 2 % 75 64222 2skksksksok | 822 780
— o - S 2N 642222k 1 820 390
= o - giﬁz 64222 2%kskkikk 1 840 390
s o - %%i( 6422224kkkk4k %1818 390
T s : o f 64222 2% kkkkkkx 1824 390
= . - gnv J . 64222 23kkkkkokok 1 825 390
o5 o - E/\X% 64222 2%k kkkkk% 1818 390
= . > ;&zgmm 64222 2%kkkskkkk 182X 390
= o ; E;;& 64222 2%kskkotokk 1 849 780
EX 642222 kkkkkkx ] 823 1170




1102 B IR AH v
o ﬁ?éﬁ i = v 64222 2sssksskotokok | 822 1170
JNTE y
oy o - %{f% 64222 2kkskskskk k%1 828 390
JINTHR
os T aE 642222 %kxx3k3kkk 1 823 1170
i A AR 1 N 7
2 o : 75 642222k xxkk%%% ] 826 390
JINTHR M
os e . oK 75 5% 642222k k3% 1826 780
= i SEH LR oA 64222 2k4kkkk% 1817 900
i R 2 R 64
T o 2 Ll 2222 %%kxx%%%1 814 900
1o i AR T 64222 2kkkskkekkk 1 820 390
i R AH 1 FEAE
- o . L EXi2 642222 %kxx%%k%% 1 825 390
TET ﬁ%% : 4 KB 64222 9skskskskskekskok 1816 390
JINTR 1
T o 2 H 15 64222 2%k kkx5k%1 816 780
TE ﬁ;% - FH 33 A% 64222 2skskskskskekskok [ 81X 390
ETE M/ S EH HH M 5% 64222 2skskkkekkk 1 814 450
i 1 2 XA 64
o e : 4 2222 %%kxx%%% | 824 390
e - 5%/%.: ; LR 642222 %kkkkokekk | 848 390
TEN ” L}@a‘ 2 O HZE 6422224k 1 821 780
JNTR ¥
s i REpERE 642222 %k kxxk%k 181 1 450
i PR 2 H £ 2k
TET: r%' EF%E : D 042222 %skskkskksksk 1815 780
JINTR M
o1 L - I W 3% 642222 kkskkokokk [ 821 390
RFHE N )
ToT L - Eb/y; X 64222 2k4kkkk% 1818 390
IREE 1
s e . T 642222k kk w0k 1827 390
TEY M/\ H HH A~ 642222 kkskkkkkk 1815 900
i R 1 HH =
2 o : M 642222 %kxx3kk%k 1 81X 390
ToE ﬁ/tj,:ég - FH 248 6422225555k x%x 1816 450
o %&%a : Y3 64222 2skkskskskskokok 1 826 390
Vs H RYA
TN i ey 642222k k0t10k1 829 390
A 1 PIE> 64
= o : FE= 2222k K% kx%%% 1 82X 390
TEr - '{Léé : 2 2 ff 64222 2kskskskkx k1813 900
TET ﬁ;’:éﬁ ; (R 642222 kkkkiok 1 823 780
TR
TET o 2 H 75 642222 %k xx%%%% ] 845 780
JNTR
TEE e - Elé}iu‘ 64222 2skskskskskskskok | 829 390
TET ﬁ%%ﬁ - el 640522 %ksxk% 1838 390
JINTHR T
= e : E;‘%y% 642222 skkskkockk 1826 390
= i A EHES 642222 %K% k%% | 82X 780
! 1 FH XU EH 64
= o . A 2292 %kkx%%%% 1 832 390
TEN fibis LRy 640502k 304X 450
i R 2 EES 64052
135 1 2%kskskokskeksk | 823 780
H R 1 EHPASLE: 6
= o : £EB 405225 %% kxx%%181 1 390
o - ljtlg/é 2 XU E M 6405225k xkkk% | 828 780
JNTR Y& 3l
o o - L F 640502:kkkskskk4%302 1 450
JNTE y :
= e . FH ¥ 118 6405025k 3014 390
oy ﬁ/?\ %E - SEE 640502skskskskskskekk 30 1 X 390
Ta ﬁ%‘;%,a\ - ﬁ&ﬁ}zj_‘ 642222k k3xk5%1810 390
T ” E}@a‘ > IR 64222 2%kskskskk4k% 1 818 390
ToE ﬁ:{;éa : XA 642222 %kkkkkxx 181X 780
IR 1% FEA 64222 2k4kkskk% 1 845 390




1148 HRAE 1 ey 6422225 kkkkkk% 1 822 390
1149 R EE 1 B 75 1 64222 2% k4kkkx% 1 82X 450
1150 g} 1 HH E A1 642222k Kk ok k1813 390
1151 PR E 1 £ K 640502%kkkkxk%1 342 450
1152 g 1 T 6403 243kkkkk k%2663 390
1153 VR EE 1 gk 3k~ 64222 2% %kk*kx%% 1891 390
1154 R 1 LB E 642222k kkokkx 1 82X 390
1155 VR EE 1 s 6422223 k8kkkkk 1 22X 390
1156 A 1 T 64222 2%kkkkkkx 1818 390
1157 R 2 75 =% 64222 2skkkokskkok 1828 780
1158 i RAE 1 X EEE 6421 24%kkkkkk%3322 390
1159 R EE 1 %] 64222 2% %kkkx%% 1 834 390
1160 g 2 VA 6422225k k%% 828 900
1161 B R4 2 ¥~ 4k 640522skkskotskok ] 85X 900
1162 g | 2 2y /o 64222 2%kkkkkkk 1823 780
1163 B R4 2 H Z i 64222 2skskkskotskok 1810 780
1164 R 1 EHI 64222 2kkk4k% 1 820 390
1165 R 2 &2 6422225 %sskxks% 1814 780
1166 R 1 et 64222 2% kkkkx4% 1 824 390
1167 B R4 1 U 642222skkskotkok ] 835 390
1168 R 1 BELL 642222k kkokkook1 826 390
1169 U EE 1 S = 64222 2kkkkskx45k 1 842 390
1170 g | 1 RN 6422225k ] 824 390
1171 WO AR 1 SIE P 642222kt ] 822 450
1172 i AR 1 JE/NEE 642222k 1 863 390
1173 VR EE 2 /NAE 64222 2%5kkkkokk 1 84X 780
1174 R 1 L2 64222 2% ksksskskskok ] 823 390
1175 R 2 fif] ;1Y 6405225k kskskkksk:0423 780
1176 B R 1 % 6422223 kskk8k% 1818 390
1177 g | 1 Atk 64222 2% %kkkx%% 1814 390
1178 g 2 HH X &= 64222 2%%%kkx%%1815 780
1179 PR EE 1 HH Y% 642222%%kk*kx4%1 826 450
1180 B R 1 T 6405025k 3039 390
1181 B R4 1 e 64222 2skskkskotokok 1 824 390
1182 HRAE 1 AR08 64222 2+4kkk4% 1816 390
1183 VR EE 1 = 642222%%4kkkk%1812 450
1184 o RAE 1 FH 2 64222 2%kkkkx4% 1829 390
1185 Y UREE 1 FH 2 642222%kkskkkkx 1815 390
1186 i R 2 2 642222 kkokokok 1 828 780
1187 VR EE 2 KR 642222%Hkkkx4%1811 780
1188 R 2 HH It} 642222k 181 1 780
1189 Y UREE 1 ZS 642222 45kkk4%0625 390
1190 B R 1 BEEY 64222 2skkkskotsikok ] 812 390
1191 WA 1 HEETS 642222tk 1811 450
1192 g 1 oK 7i gk 6422223 kkkkkkx 1 848 390
1193 B R 3 e 642222tk 1829 1230




1194 =
et g gi 1 }E ﬁ{% 64222 23%kkkkkkk 1815 390
oe o . ;@ 64222 2%kskskskskkk 1 857 390
o o . *ﬁﬁ—é_\l 64222 2%k5kkckekek ] 82X 390
oe o . - 64222 2%k 1 81 1 390
119 e : g&gﬁ 64222 2%kskskskekekek 1 817 390
— e - E}i}i‘g 642222%kkkkkkx ] 825 390
oo o > E\if— 64222 2%kkkckekskk | 82X 450
1201 HAH : A,\y% 642222 kkkskskx 1821 900
e e . Eiﬂ) 642222%kkkkkkx 1815 390
o1 o . EE]::,; 64222 2%kskskskskekok 1812 390
o P . iﬁ‘i 640502skkskskskskskek 1 313 390
o o - %;;H: 64222 2%kskkkskkk 1824 450
- e : ??&Iﬁ 64222 2% %5k kx%%181 1 390
og o . %Hi; 640502skskskskskskkk 3027 390
o v : /—\ il\% 64222 2%kkkkkkk 184 1 390
2D e : §£: 642222%xkkkk4k 1844 390
e e - Eb}jh% 642222%kkkkxxx]1817 780
o5 P . ;‘L, \ﬁ 640502skkskskskskkk 301 3 390
TE P . ;5/55 64222 2Fkkkkkckk ] 822 450
i o . %‘ 64222 2%kkskskekekk 1816 390
TE P . :ﬂ:,nl,i; 64222 2%kkskekekekek 1 814 390
12 HEE 1 /E,Igsf: 6421 2 7skkkorkkx 262X 390
s o - . Zzﬁﬂ 642222k 814 390
2 e - 25 m& 642222 4kkkkkx 1817 390
ol v : E—w‘;‘w 64222 2%kkkzkekkk [ 833 390
T o . EE]?; 64222 2%kkskskekekekek 1 824 390
220 e : 2 i 64222 23%kkskkkkk 1815 390
o s . EHL: 64222 2%k 1 82X 450
o e : ﬁ,\{ﬁ 64222 23kkskskokokok 1 837 390
223 e 2 gﬁ$ 64222 2%kkk3kk0k0k 1 838 780
o e . Eﬂﬁ% 642222%kkkkokkk 1813 390
o o - EH;$ 642222%kkkkkxx 813 510
T P . 35\_3 x} 64222 2%kkkckekek 81X 390
. o > %}; 1¥IJ 642222%5kkkkkx 1819 390
o o - EE];; 64222 2%kkkkkkk [ 858 900
1228 T8 2 Eaii 6422225k 1819 780
o o . Eiﬁﬁ 64222 2%kkkckekkk [ 838 780
= e > E&#u 640502kkskkkkkk 3020 1350
PrE P . T—P:g 64222 2Fkkkkkk 1 860 390
o o - E‘L,%} 642222%+kk*kx4%1836 390
o e 1 ;5 ;T 642222 kkktkskokk 1812 390
o o . T_;EE& 64222 2%kskskskskekek 1 880 390
o o > ;ﬁ - ; 642222k kskkskekkk | 823 390
oo o - E‘L,/J\f;: 64222 2%kskskskekekek 1819 780
T o : : 75 64212 7*kkkckekekk 262X 390
J& 5 640502skskskskkekekok 1 314 450




1240 g | 1 7 R 64222 2kkkkkkkok 1 824 390
1241 R 2 H X AE 642222 kkdoksokk 828 780
1242 B IR AT 1 NERDS 64222 2sksctkookok ] 81X 450
1243 PR E 1 L fl 7 64222 2% kkkkx%%1 812 390
1244 iR 2 b Hg 642222 kst 1 828 780
1245 A 1 16 8T T 640502sksksotokoiok ] 361 390
1246 o RAE 1 T ESE 642222k 4kk8%% 1 826 390
1247 AR 1 FH 388 2% 6422225k kxx%]1 825 390
1248 i R 1 & LA 642222k kkokko0k 1814 450
1249 VR EE 2 L H48 64222 2% kkkkxk%1 812 780
1250 R 1 L5l 642222 kkkkkk 1818 450
1251 R EE 2 H = 5% 642222%kkkkkxx 1815 780
1252 g | 8 OE= 64222 2% kkkkkx% 1813 3120
1253 HORAE 2 Vel 64222 2skkskskskokokok 1816 780
1254 i AR 1 SHAY 642222k ] 84X 390
1255 PR EE 1 H E A 64222 2%5kkkkkx 1 824 450
1256 R 1 HyE =2 642222k kkkk% 1 829 390
1257 Y UREE 1 I e 640502kksskskokk 1 32X 390
1258 R 1 J& H R 640502%4kkkx4%3026 390
1259 VR EE 1 OHw 642222 K5kkkkk1 837 390
1260 HRAE 4 P 64222 2% kkkkx%% 1829 1560
1261 U EE 1 FEL 642222%kskskskokkk 1823 390
1262 I AT 1 B 642222k sksktokok 1813 390
1263 PR EE 1 % /NiE 640324355k 2620 390
1264 i AR 3 Y 642222k 1 84X 1170
1265 | 2 Mg 64222 2kskkkok 1818 780
1266 g} 1 FH Fyé e 64222 2sksckoksolok 1 822 450
1267 Y UREE 1 LW 22 64222 2kxkkkk4k 1821 390
1268 iR 1 G /N, 642222 k4 1 844 390
1269 R EE 1 i 642222%kkkkkkx 1813 390
1270 HRAE 1 X AE 6422225 kkkkkk% 1 825 450
1271 PR EE 1 S 64222 2kxkkkx5%k 1 860 390
1272 B A 1 WAEM 64222 2%xkksk%% 1815 390
1273 PR EE 2 L AL 642222 %kkskkkkx 1836 780
1274 HRAE 1 ME B 642222%xkkkkx4%1815 390
1275 VR EE 1 N A 64222 2% kkk*kx%%1219 390
1276 g 2 oK S 3He 64222244kkkkkx0220 780
1277 WA 1 ¥ S B 6422225 %kskkk5% 1816 390
1278 R 2 LRI N 642222 4kkkk4% 181 1 780
1279 VR EE 1 /NG 64222 2%k %kkx%% 1810 390
1280 B R 3 HEAE 642222 kkkkkk 0642 1170
1281 Y UREE 2 O/NR 642222%k4kkkx%1 81X 780
1282 g | 1 M 5 64222 2%kkkkkk%k1819 390
1283 PR E 1 I Ho 64222 2% kkkkx%%1815 390
1284 HRAE 2 G 642222 4kkkx4%1819 780
1285 g | 1 Gt 64222 2%kkkkkkk 1 824 390




1286 o IREAR 2 FH 4 e 64222 2skkkstskieok | 846 780
1287 R EE 1 FH gk > 64222 2kxkkskk34k 1 829 390
1288 HRAE 1 L Hify 642222 %kkkk4% 1 244 390
1289 PR E 4 k=il 64222 2% k%kkkx%1 81X 1560
1290 i R 1 JH 4L 6422225k kkokkk 1823 390
1291 VR EE 1 EE= 642222%kkkkkkx 1810 390
1292 o RAE 1 V=245 64222 2%xk4kkk k%1 81X 390
1293 VR EE 1 HE A 642222%kskskskkokk 1 822 390
1294 iR 2 oz 6422224840819 780
1295 g | 2 JEW 2 64222 2%kkkkkkk1810 900
1296 i RAE 1 BBEZE 64222 2%k4kkk k%1 81X 390
1297 R EE 1 M/ 64222 2%k 4k k4% 1821 390
1298 B IR AH 1 &R 642222k kkkx5k%1816 390
1299 PR E 1 iz 64222 2% kkkkx%%1813 450
1300 g | 1 FH A6 64222 2kkkkkkokok 1 829 390
1301 PR EE 2 LMy 64222 2% K%k kkx%] 82X 780
1302 i RAE 2 VI 642222 k4kkkkk 1817 900
1303 Y UREE 2 e 64222 2% %kkkx%%181 1 780
1304 R 1 s 642222k skkkk% 1 829 390
1305 VR EE 1 Rk, 64222255k 181 1 390
1306 HRAE 2 & EE 64222 2%kxkkkx3%% 1 820 780
1307 U EE 3 s 64222 2% kkkkxk%1817 1350
1308 g | 1 ONA 64222 23kkkkkkok 181 1 390
1309 g | 1 TR 64222 2%kkskkk k%1 82X 390
1310 i RAE 1 0% 64222 2+4kkkkk 1817 450
1311 VR EE 1 oE 642222 Kkkkk4%1 815 390
1312 o RAE 1 I 6422224k 1812 390
1313 Y UREE 1 N A 642222 kkkkk4k 1 827 390
1314 R 1 4K [H 642222 kkkkkdkk 1817 390
1315 R EE 1 LW AE 642222 4kkkk4% 1 820 390
1316 R 2 AR 642222841819 780
1317 PR EE 1 FH 1% 64222 2kkkskskk4k 1 822 390
1318 g 2 el 6422224 kkkkkkx 1814 780
1319 PR EE 1 1% E 5 64222 2% %kk*kx%%1 839 390
1320 HRAE 1 O 3ER 642222%kkkkx4% 1830 390
1321 VR EE 1 H X AE 642222%+kkkx4%1 820 450
1322 R 2 TKAEAE 642222skkskkstokok 1 220 900
1323 Y UREE 1 Ay 64222 2% %kk*kx%% 1 866 390
1324 R 1 o Bt 64222 2%4kkkx4%1819 450
1325 HORAE 1 FEER 64222 2skkskkokokok 1812 390
1326 R 2 L By 642222kt 1 821 780
1327 g | 1 FNEE 642222 4kkkk4% 1 226 390
1328 B IR AH 1 & EiE 64222 2skkkskotokok ] 831 390
1329 WA 1 H) ¢ 642222tk 1829 390
1330 HRAE 2 48 64222 2%k4kkk k%1 83X 780
1331 VR EE 1 4= 1F B 642222%%kk*kx4%1 836 450




1332 g 1 JE S 642222k kkkkkx 1816 390
1333 R EE 2 O 64222 2% kkkkkkx 1 822 780
1334 B IR AT 3 HH A 64222 2skkskskotsok ] 823 1170
1335 PR E 1 I 2% 64222 2% %kkkx%% 1821 390
1336 i R 2 e 642222k 1 825 780
1337 VR EE 2 =t 642222%K4kk k%41 818 780
1338 o RAE 2 HH 3 64222 2%4kkkkk 1 85X 780
1339 VR EE 2 I E 642222%kkkkkk% ] 838 780
1340 R 3 0 HF% 6422225 kkkkkk% 1827 1170
1341 VR EE 1 HE Ay 642222%kskskskokkk 1822 390
1342 WA 2 5Kk X AE 642222kscksctokok ] 824 780
1343 IR 1 EEjri 64222 2skksksieolek 840 390
1344 B IR AH 1 T [ i 64222 2sskskkotokok 08 1 7 450
1345 g | 2 YN 642222k kkkkk%%1815 900
1346 i AR 2 KK 642222 kksctokok ] 226 780
1347 PR EE 1 LEET 642222%+%k*kx4%0826 390
1348 i RAE 1 HH 2= i 642222 kkkkxk% 1823 390
1349 Y UREE 1 R 64222248k k41813 390
1350 WA 2 EREES 642222kscksctokk ] 819 780
1351 IR 2 it 642222tttk 1 814 780
1352 HRAE 1 e 642222k kkkkx4k 1 822 390
1353 U EE 1 LS 64222255k 1824 390
1354 AR 3 LK E 642222 ksckotkok 1817 1350
1355 PR EE 1 g 64222 2% kkkkxk%1213 390
1356 i RAE 2 4= E ] 642222 kkkkkdokk 1 8§12 780
1357 VR EE 1 o A A 64222 2% kkkkx%%]1215 390
1358 g 2 2E1e 64222 2% kkkkxk%1 827 900
1359 R 1 4 5T 64222 2sskskssksk 181 1 390
1360 R 2 s 5 642222k kkkkx4k 1812 780
1361 WA 2 M= 64222 2skskotsokok | 844 780
1362 R 2 Y, 642222ksckokok 1815 780
1363 PR EE 2 T 642222%kkkkkkk 1 842 780
1364 R 2 il 4 642222k skkokkx 1217 780
1365 PR EE 1 1% 15 B 64222 2% kkkkx%%1815 390
1366 g} 1 FH XU 6422223 ksckokkeok08 13 390
1367 g | 2 WY 642222k kkkkkkk 1822 900
1368 o RAE 1 RER 6422224k 1813 450
1369 R 2 55> 642222k kskkskokk 1826 780
1370 g 1 L [H 5% 642222 kkkkkxx 1227 390
1371 g | 1 WM Ae 64222 2%kkkkkkk 1827 390
1372 g 2 HY 5 6422223 kkkkkkx 1 81X 780
1373 g | 2 g 6422225k kkkkx%1 812 780
1374 g | 1 AT 64222 2%kkkkkk%k 1 829 390
1375 PR E 2 1% 185 55 64222 2% %kk*kx%% 1 856 900
1376 g | 2 L 64222 2%kkkkkk% 1825 780
1377 VR EE 2 o b 642222%5kkkkkx08 14 780




1378 =
el g gi i gi% 64222 2skkkkololok | 824 900
o o . Eagf 64222 2%kskskskskekek 1 820 450
T e : E}iyi 64222 2%kskkkkkk 184 1 390
e o - /\g{jj 642222555k 1816 390
s v > %iu 64222 2%kkkkekkk [ 813 1170
= e ; }%K% 642222 kkkkkkx ] 838 900
— e : /E.\ yis3 64222 2%kkkx%%% 1820 390
— e : fﬂz 6422224k kkskkk k1 822 450
— e 2 % }i Di“ 64222 2skskskskokokek 1813 780
L o - Egm{j 64222 23%kkkkkokk 1818 390
LS i ! HX _ 6422225k Kskk8k%1820 390
e o ; %IE {\g 64222255k 1814 900
ol e : %ﬁ;[: 64222 2% 5kkskkkx 1 834 900
o o - %}ﬁi 64222 2%kkkkk6x(08 1 1 900
oo v - . \im 64222 2% kKK [ 817 780
— e 2 /\,\ﬁ% 64222255k 1824 780
— e : /j‘ii 64222 2skskskskokokok 1 828 450
o P . 27‘7 i% 64222 2%kkkk3kk5% 1 8211 390
Lt i 1 g JZL = 642222 kkkk% 1820 390
— e : %iL 642222 kkskskskkekk 181 1 450
o e . 55% 64222 23kkkkkkk 1 820 390
= o - Egiﬂle 64222 2%5kkkkkx 121 1 390
201 P - /\,\ Z 64222 2%kkkckekek 1 821 450
o o - Ei{_j— 6422223kt 181 1 900
705 v > %ﬁim 64222 2%kkkkkkk 181 1 1170
o o - ;ZJE% 642222 4kkkk4% 1819 780
e e : . % ﬁz 64222 23kkkkkkok 1 826 450
o e - Eamy% 64222 2kskskkskkkk 1 821 450
07 P - /\,\fﬁ 64222 2%kkkckekek 181 1 780
o o - Eﬁﬁ 64222 2skkkskskekekk 1 824 900
o e - T ;T;E 64222 23kkkkkolok ] 829 450
e o : %rff 64222 2%kkskskekkk ] 818 900
T o : ;ﬁ/\;i 64222 2%kkskskAkkk 1828 450
5 o . Egi 64222 2%kskskskekekek 1 814 450
T o : %zi% 64222 2%kkkckekkk [ 827 390
ey o . };J/J\j: 64222 2%kskskekekokek 1 824 390
T o : l% 2 f_ 64222 2%kkkkkkk 826 390
o P . Eﬂif 64222 2%kskskskskekok ] 828 390
5 P . %iy% 64222 2Fkkkkkckk ] 828 450
= o - %.}%I 64222 2kkkskkk4kk 1817 390
T P - e 64052 2kkskskskekekek 1810 900
o o : . 64052 2kkskskekekekek(0424 900
120 e : o ?T 640522 %kxxkkkk 1 827 390
e o - FJ% 64052 2skkkkkkeok 1 86X 390
e e . }%;é 6405023k 2819 450
& 64050 2skkkskskokekek 3023 390




1424 g | 2 R 6405023k 3010 900
1425 R EE 1 o 640502 %kkkx%%302 1 450
1426 B IR AT 2 JE E i 640502ksckkotokk 3028 780
1427 g | 1 % FERG 640502%k5kkkx%302X 390
1428 i R 1 SRR 642222k 1815 390
1429 VR EE 2 H & 642222%kkkkkxx0043 780
1430 o RAE 2 I WAL 64222 2%4kkkx4% 183 1 780
1431 VR EE 1 3£ BH 64222 2%kkkkkkx 1815 390
1432 R 5 H &l 642222 kkkkxk%1 818 1950
1433 VR EE 1 I B 3 642222 kkkkk4%083 7 390
1434 R 1 LB 642222tttk 1814 390
1435 R EE 2 JE i ate 64222 2%kkkkkkx 1 827 780
1436 HRAE 2 H H 64222 2%k4kkkx%]1 83X 900
1437 g | 2 LR AR 642222 %kkskkkx% 181X 780
1438 i AR 2 G RAY 642222 kkctkok ] 824 780
1439 PR EE 2 L i 640502:4kkkx4%3016 900
1440 i RAE 1 YT 642222 kkdkkkkk 1 844 390
1441 g | 1 OER 642222%kkkkkx 1840 390
1442 A 2 e 642222%kkkkxxx]1813 900
1443 VR EE 1 3t 64222 2% %kk*kx%% 1839 390
1444 i R 2 AR 642222kt 81 1 900
1445 R 1 FH 640502k Kk 3014 390
1446 g | 1 JHEF5 64222 23%kkskkkkk 1825 390
1447 g | 3 /N 64222 2% K4kkx%%1 827 1350
1448 i AR 1 Sk A 640502 ksctotion] 337 390
1449 VR EE 1 4= 6405023 kkkkkkx3012 390
1450 WA 3 JH S 642222skscksctokok ] 814 1170
1451 Y UREE 1 I 3 e 640502k kkkkk443018 390
1452 R 1 EEBCI N 64222245k x%%0819 390
1453 R EE 1 R 6405023%kkkkkx 3020 510
1454 WA 2 BEE 64222 2ksckotokox] 82X 780
1455 PR EE 1 SN 640502%kkkkx%%]1 335 390
1456 B R 1 M)~ X 642222 kkktkok 1 838 390
1457 R 2 Eoaisll 6422225 %sksk3k5% 1816 780
1458 HRAE 1 O+ 64222 2%kxkkkk3%k% | 83X 450
1459 VR EE 1 TR b o 64222 2%kkskskskckx 1821 390
1460 g 1 & IFEE 642222 kkkkkk k1823 390
1461 Y UREE 1 H A8 64222 2% kkkkxk%1817 390
1462 i R 1 H 75 1E 642222tttk 1 829 390
1463 VR EE 1 LE=E 64222 2% k%kkx%%0818 390
1464 R 2 1 642222tttk 1 81X 780
1465 Y UREE 1 L8 64222255k 1819 390
1466 HRAE 1 7B 640502%k3kkkx%301X 390
1467 PR E 1 = 640502%%4kkx%%3018 450
1468 g 2 LB R 64222244 kkkkkx 1836 780
1469 VR EE 1 SRR 640502 %kk*kx%%1 320 390




1470 R 2 &5 642222 tkokkox 1818 780
1471 g | 1 220 6403243k8kkkk4264 X 390
1472 B R 1 HG1E 642222skkskkotokk 202 1 390
1473 g | 2 JE S 642222%kkkkkk% 1817 900
1474 WA 1 sKIRAE 642222kscksctokok ] 824 390
1475 VR EE 1 o4Hr 642222 4kkkk4k 1 82 1 390
1476 o RAE 4 OR7% 6422224 4kkk4k 181 1 1800
1477 WA 1 5= 64222 2skskkskotskok 1 824 390
1478 i R 1 x4 642222kt 1815 390
1479 R 2 FH 5% 64222 2skkkokktox 1 82X 780
1480 i R 1 LN 642222kt 1 812 390
1481 R EE 1 T 642222%kkkkkkx 1816 390
1482 g 1 JE e 642222%kkkkxxx]1827 450
1483 B R4 3 mE=E 64222 2sskstkotokok 1 815 1350
1484 i AR 2 % 5 642222k 2045 780
1485 PR EE 1 L Mg o 64222 2%kksskskokek 84X 390
1486 i RAE 1 Tk M 64222 2%4kkk k4% 1826 390
1487 Y UREE 1 I 5e i 6405025k*kkskkk4k3017 450
1488 R 2 G X TJE 642222k ] 82X 900
1489 g | 1 VORI 642222 %5k xx 1816 450
1490 R 2 L 642222tttk 181X 780
1491 WO 1 IR 4 642222kt k 082X 390
1492 g | 1 VA 64222 23k 1810 390
1493 PR EE 1 JE A 64222 2% %kkkx%% 1821 390
1494 i AR 2 2k 5% 642222 kckotior] 828 900
1495 VR EE 1 g 64222 2% %%k *kx%%1819 390
1496 R 1 K E 642222 ksckokok 1218 390
1497 WA 1 X It 64222 2skskkotokok ] 825 390
1498 R 1 &K% 642222 kkdkkkk 41821 390
1499 g | 3 =AY 642222 %5kkkkkx 1814 1170
1500 HRAE 1 METE 64222 2%%kkkx%%0829 390
1501 PR EE 1 W 5 A5 642222 %kkskskskkx 1819 390
1502 g} 1 G H gL 64222 2sksckoksokok 1 828 390
1503 R 1 Y 642222k k8% 1819 390
1504 i AR 1 s 642222 ksctotkok 1811 390
1505 HORAE 1 HH 2= 6422223kttt 1 814 390
1506 G 1 ME 642222ksckookok 4238 390
1507 B IRAR 1 H X 64222 2sskkskotskok 1014 450
1508 R 1 YN 6422224k k45442 | 390
1509 VR EE 1 H £ & 642222 kkkkk4% 1012 390
1510 R 2 it 64222 2skkkskotsiekok 4437 900
1511 Y UREE 1 P E 640522%%kkkx%%1 021 390
1512 g | 1 e 642222k kkkkk** 4443 390
1513 PR E 1 % 64222 2% kkkkxk%4212 450
1514 HRAE 3 FH XS 640522%kkkkkk%1012 1170
1515 VR EE 1 &1 642222%%kkkx4%4420 450




1516 R 1 HEA 642222tttk 1 034 390
1517 R EE 2 25 X e 642222%kkkkkxx1 023 780
1518 g | 2 =SS 64032 1kiooiik 222 1 780
1519 R 1 IS, 6422223 sskkskkk 4419 390
1520 i R 1 B R 640522 kckokok 3813 390
1521 B IRAR 2 IS 64222 2sksktskotskok 4414 900
1522 R 2 B4 642222 ksctotkok 4437 780
1523 WA 2 IR 642222skscksotokok 4416 900
1524 R 1 FH 3 ES 64222235tk 1 020 450
1525 g | 1 YN 64222255 kkkk k%4416 450
1526 g | 1 2= A 64222 2kkkkkkk 104 1 450
1527 B R 1 M= 642222 skskkskskskk 422 1 390
1528 g} 5 [ZpIn=) 6422223 kskskkskskk 4458 2550
1529 PR E 3 YL H 64222 2% %kk*kx%%4520 1350
1530 B IR AH 1 T 64222 2ssktkotokok 4443 390
1531 PR EE 1 P EE 64222 2%kkkkk k%% 3665 390
1532 i RAE 1 IES 642222 %kkkk4kk 1013 390
1533 B R 3 Rt 21 64222 2kskskookk 4433 1350
1534 ! 1 ZHa N 64222 2skkskotsiokk 443 1 390
1535 g | 1 | LN G 642222k 441 () 390
1536 HRAE 2 MR 64222 2%xkkkkk k%4 42X 780
1537 U EE 1 ] 2% R 64222 2kkkkkk4kk4423 390
1538 I AT 1 H &M 642222ksctotokok 4441 390
1539 R 1 il 642222k k844430 390
1540 i AR 1 ESER 642222kt 1034 390
1541 VR EE 2 e )L 642222 kkskskskk k%4225 900
1542 G 1 it 642222kscksctokk 4436 390
1543 B IRAR 1 H & 642222skksktiokk 1039 390
1544 iR 1 W fi 42 642222kt 4414 390
1545 R EE 1 LAy 64222 2% %k kx%%446 | 390
1546 HRAE 1 Y 64222 2% kkkkx%%4419 390
1547 PR EE 4 [ i e 64222 2% kkkkx%%4415 2040
1548 o IREA 1 CEZVIN 642222k kkokk 444 1 390
1549 R 1 [ZINEAR 64222 2sskskktokok 441 5 390
1550 R 3 il 642222skkkskotskkok 4413 1170
1551 R 1 IR 642222k skskotok 4438 390
1552 g 1 Bt L 642222skkskokoiokok 4430 390
1553 Y UREE 2 % /N %= 642222%kkkkkx 4414 780
1554 R 1 il 64222 2%xkkkkk k%4 46X 390
1555 VR EE 1 | AIVE S 64222 2% kkkkx%%4435 390
1556 HRAE 2 [ T 642222 kkkkk k%4433 900
1557 R 1 OE%E 642222k skskkx 443X 390
1558 g 1 Ik 35 64222 2%kkkkxxx4467 390
1559 PR E 1 L% 642222 kkkkk4%44 37 390
1560 HRAE 1 i b 6422225 kkkkk k%4425 390
1561 VR EE 2 % tH: Vit 64222 2kkskskskk k%4418 780




1562 g | 2 2N 7 64222 2kkkkkkkk 1026 1020
1563 R EE 1 Y 64222 2% %Kk kx%%4464 390
1564 g 2 % o 642222 K4k k444453 900
1565 B R4 1 71V 64222 2sskstokotokk 4225 390
1566 i R 2 W N EE 64222 2skskkskookok 4419 900
1567 VR EE 2 0 H e 64222255k 1021 900
1568 A A 2 A1 64222 2sskkotokokok 4424 780
1569 AR 2 Mk == 642222k xkkk5%4225 780
1570 i R 1 [ ZINAp% 640522tttk 381X 390
1571 B R4 1 R 64222 2skskskokokk 1433 390
1572 i RAE 2 [ T AR 642222 kkkkx k%4418 780
1573 R EE 2 B te 64222 2% kkkkx%%4429 780
1574 AR 1 H A 64222 2sskskotctokok 1 03 1 450
1575 g | 1 YN 64222255k k%442 390
1576 B A 2 R 642222k skskckokk 4423 780
1577 PR EE 2 LEBUA 642222%+kk*kx4%1049 780
1578 i RAE 1 J&FKAe 6422224k 1022 390
1579 Y UREE 2 F¥E 64222 2s%kskskk4k4 469 780
1580 g 2 o Rt 6422224 kkkkkk k4424 900
1581 B R 2 H Eif 642222 kkkkk %4218 900
1582 HRAE 2 FHH 642222 kkkkx4%4426 780
1583 U EE 2 =45 64222 2%kkkskkx%1 035 780
1584 I AT 3 [ Ao 4 642222k 441 | 1170
1585 HORAE 2 XSH 1 64222 2%kkkkkkk 106X 780
1586 B A 2 ¥4 H 642222k A4 1 T 780
1587 VR EE 2 Zs 51 64222 2% kkkkx%%4217 780
1588 o RAE 2 FH R i 642222k kkkkx%% 1038 780
1589 g | 1 HE2 6422225k xx%x4218 450
1590 iR 2 /8 L 64222 2kkkkkk%4419 780
1591 WO AR 5 MAELE 64222 2kskskokokk 4427 1950
1592 HRAE 1 IR 3% B 642222k xkkkx%%4246 390
1593 PR EE 1 L JhkE 642222 4kkkk4k4 224 390
1594 g 1 O EH 642222 K4kkk4%4428 450
1595 R 1 H 418 642222k kot %4429 390
1596 B A 1 % fi A, 642222k skskkokk 4442 390
1597 VR EE 2 L ot g 64222 2% k%% kx%%4466 900
1598 o RAE 2 FH Rl AR 64222 2%xk%kkkx% ] 05X 780
1599 R 1 [ tH: 64222 2sksktetokook 441X 390
1600 R 1 ¥ 642222tttk 4 412 390
1601 VR EE 1 ek s 642222 kkskskskk k%4425 390
1602 B AT 2 )% 64222 2sksckkotokok 1 017 780
1603 Y UREE 1 B ETE 64222 2% %kkkx%%4429 390
1604 B A 1 ¥H: i 64222 2kskkokokkk 4419 390
1605 g | 1 =YY IN 642222 %Fkkkkxx%x1018 450
1606 R 2 EEJE TR 6422225k 1030 780
1607 VR EE 2 i 64222 2% %%k kx%%4469 780




1608 R 1 it & 640522tk 381 1 450
1609 R EE 1 A=A 640522kskskskkxx 1013 450
1610 LA 2 &R 6405223tk 1 028 780
1611 R 1 HER 6405225551 026 390
1612 g 1 e 640502 kkkotickk 1318 390
1613 AR 2 HH R e 6422225 kkeksckkk 4426 780
1614 R 2 W/ NEF 640522845438 30 780
1615 WA 2 R N 64052 2skskokotokokok 442X 1020
1616 R 2 HEES 642222tttk 4468 780
1617 VR EE 1 XG5 642222%kkkkkkx 1 02X 510
1618 R 1 H KM 642222 kK81 069 390
1619 WO AR 2 LipEEa 642222k sk ] 02X 900
1620 g 1 Z5p e 64222 2%kkkkkx %4448 390
1621 PR E 1 EZAE LS 64032 1xkkkkxk%2225 390
1622 B R 1 THE 6421 23skekkotckk 2423 390
1623 PR EE 1 oydy 64222 2%kskskskokkk 4247 390
1624 R 1 M=% 64222 2skskokskokskok 4444 390
1625 Y UREE 2 I - 64222 2%kkkkk k%4425 780
1626 R 1 s )L 642222k kkokkorok4464 390
1627 VR EE 4 A 64222 2%k kkkx%%4223 1560
1628 g 1 7 N 64222 2%kkkkx4%k4415 390
1629 U EE 1 H/NR 64052 2%kskskskkkk 1057 390
1630 g | 1 PrER 642222k kkkkk*% 4435 390
1631 B R4 1 DigAR ] 64222 2sskstkotokok 4443 390
1632 g 1 %5 {3 B 642222 kkkk k45441 | 450
1633 R 2 & 642222k xkk%5x%1015 900
1634 g 1 VR 642222 kkkkkx4219 390
1635 WA 1 FH A 642222sksksotokok 4424 390
1636 iR 1 HENE 640502tk 1319 390
1637 R 2 ¥t 640522s%skskstskskok 1034 780
1638 B R 1 A AR S 642222 kskskkk%4419 390
1639 R 1 R tH A8 64222 2sksokotskokk 4457 390
1640 g | 1 I tH: 51 642222k 441 4 450
1641 PR EE 1 Yy 64222 2%k kkk k% %4428 450
1642 i AR 1 i 642222k 4415 390
1643 VR EE 1 % N AR 64222 2% %%k kx%%4416 450
1644 g 1 2= it 64222244 kkkkkx 1016 390
1645 Y UREE 1 1% N A 64222 2% kkkkxk%4425 450
1646 A 1 [ TR 642222 K4k k444432 450
1647 WO AR 1 RN 64050 2kkskkk45%1 336 390
1648 g | 5 X2 642222 xkkskkk4%44 20 1950
1649 Y UREE 2 % 5 BH 64222 2% kkkkxk%4413 900
1650 g 1 FH= 642123%kkkkkx%2465 390
1651 WA 2 TEM 642222k kskkokskk 382 1 900
1652 g | 1 HEE 64222 23k 1030 510
1653 VR EE 1 BEF 64222 2%k %k kx%362X 390




1654 g} 1 A 642222k %k k%4413 390
1655 W R 1 3 6421 23sksokskoteokok 2413 390
1656 HRAE 2 NI 64052 2%kkkkk4k4438 780
1657 R 2 ZERIL 6405225 %3k 1014 900
1658 g | 1 Ry 64032 Isktotokokkk 2227 390
1659 VR EE 1 &7y 64032 skskterakok 262 1 390
1660 o IREA 2 XIVE S 64032 L skekieokokok 2225 780
1661 VR EE 1 Vi 640522%kkkkk k%3825 390
1662 g 1 ALENGS 64222 2% %kkkx4%1 040 390
1663 R 1 HEZF5 642222 kskkkkk k4482 390
1664 g 1 YKk 64222 2% kkkkx%%1023 390




